   Quick Internet Survey      
Utilising WebStat, Wilcoxon routines only

[Key: Case = Case no.;  Gender 1=Female, 2=Male;  Internet  minutes online per day; Shopping 
                   Used internet for purchase in last month] 1 = no  2 = 1-3  times  3 = 4 or more  times]
	Case
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	Gender
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1

	Internet
	30
	45
	40
	60
	45
	60
	75
	30
	80
	45
	60
	75
	105
	120
	45

	Shopping
	1
	1
	2
	2
	1
	1
	2
	3
	3
	2
	1
	1
	2
	1
	1


	Case
	16
	17
	18
	10
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30

	Gender
	1
	1
	1
	2
	2
	2
	2
	2
	2
	2
	2
	2
	2
	2
	2

	Internet
	30
	15
	20
	10
	30
	20
	90
	45
	30
	15
	60
	20
	45
	30
	20

	Shopping
	2
	1
	2
	3
	2
	3
	2
	1
	2
	3
	2
	1
	2
	3
	3


Analysis   [Using the text file internet.txt as data]
	Frequency table results for Gender:
Gender
Frequency
Relative Frequency
1
18

0.6

2
12

0.4


	Gender
Note more Females (60%) then Males (40%) in this sample

Using:  WebStat/   Tables->Frequency
                             variable:Gender
(Tables superior to graphs in this case)


	Frequency table results for Shopping:
Shopping
Frequency
Relative Frequency
1
11

0.37
2
12

0.4

3
7

0.23


	Shopping

There is a fairly even split in this data

As we would expect (30/3)=10 in each row, then 2=sum(obs-exp)**2/exp
(0.1+0.4+0.9) = 1.4 (calculated by hand)

As 2  of 1.4 < 5.99 (2 df), this fails to achieve significance at the 5% level 
(using http://graphpad.com/quickcalcs)

Using:  WebStat/   Tables->Frequency

                             variable:Shopping
(Tables superior to graphs in this case)


	Summary statistics for Internet

Column
n
Mean
Variance
Std. Dev.
Std. Err.
Median
Range
Min
Max
Q1
Q3
Internet

30

46.5

758.87933

27.547764

5.0295105

45

110

10

120

30

60
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	Internet

There is a near normal distribution in this data (as the mean and median values are similar to each other)

Using:  

WebStat/ Graphics: Scatter Plot
                x axis: Case  y axis: Internet


	Contingency table results:
Rows: Sex
Columns: Internet 
               (Shopping Frequency per month)

Sex
None
1-3 times
4+ times
Total
Female
9

7

2

18

Male
2

5

5

12

Total
11

12

7

30




Test for independence of Sex and Internet (Shopping Frequency per month):
Statistic
DF
Value
P-value
Chi-square

2

5.0766597

0.079


	Cross-tabulation of Internet v. Gender

The chis-square indicates that the data is nearly significant at the 5% level 
(as p>0.05) 

Using:  WebStat 

The Tables-Contingency was used to produce the raw table
Contingency table results:
Rows: Gender
Columns: Shopping

1
2
3
Total
1
9

7

2

18

2
2

5

5

12

Total
11

12

7

30


and then a summary table was produced on the WebStat data sheet (as per results) and the Tables->Contingency used (with Summary option chosen) to obtain labels.


Webstats: Summary statistics for Internet grouped by Gender 
	Gender
	n
	Mean
	Variance
	Std. Dev.
	Std. Err.
	Median
	Range
	Min
	Max
	Q1
	Q3

	1
	18
	54.444443
	796.73206
	28.226442
	6.653036
	45
	105
	15
	120
	30
	75

	2
	12
	34.583332
	511.17426
	22.609163
	6.526703
	30
	80
	10
	90
	20
	45


	Two Sample T-test results (with pooled variances): 
m1 - mean of Internet where Gender=1 
m2 - mean of Internet where Gender=2 
H0 : m1 - m2 = 0 
HA : m1 - m2 not equal 0 

Difference
Sample Mean
Std. Err.
DF
T-Stat
P-value
m1 - m2
19.86111

9.750702

28

2.0368903

0.0512



	T-test: Internet by Gender
The t-test indicates that the differences by Gender are nearly but not quite significant (as p>0.05)
Using:  WebStat 

T Statistics->Two Sample
Sample 1: Internet 

              Where: Gender=1

Sample 2:Internet

             Where:Gender=2


	Wilcoxon Two Sample Test

Internet usage (minutes) by Gender

Females

30 45 40 60 45 60 75 30 80 45 60 75   105 120 45 30 15 20 

Males
10 30 20 90 45 30 15 60 20 45 30 20
	Using:  Wilcoxon
Example:
Females = 18 Males = 12

W = 137, p <= 0.04006 
Commentary

This non-parametric test indicates a significant difference at the 5% level
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